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Chapter#13
Area and Perimeter

Of Plane Figures

Discussion Topics

1.conversion of Units

2. Perimeter And Area of
Plane Figures

3 .Perimeter And Area of
Parallelograms




RELATION BETWEEN VARIOUS UNITS |CONVERSIONS|
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In =100
In =10
L =10mn

im =100 m
hm =100m
dam=J0m
in *J0em

L * 10
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' wtmxwoomf 1000000 pé
= 100 0] = 10000 ' ot
=0 Lﬁmz : s
i =00t =100 en
Ll =0y 0hm =100

_——




PERIMETER

CIRCUMFERENCE

P=MN+NP+PM

PARALIELOGRAM

P=DE+EF-FG-GD

RHOMBUS

P = b+b+b+bh

P=4b

RECTANGLE

P=L+wtLl+w

P=2L+2w

P=I++1+]

P=4l

P=MN-=NP+PR+RM




Rectangle w-

Square

Triangle

Trapezoid -

Circle

Not a formula
just add up the
four sides

Definition of
Variables

[=length
w=width

5= |ength of
one side

ﬂ:(hh)/i |1'|1Eig|'|t
h=hase

pch{ ) h=height

——| Hength
, EI'IE,T

r=radius
Ctircumference
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side \eng’rh

Perimeten:

tide + eice + gide + side Ieng'rh X Width

MQHB .

bace LI

Arca = base x hiiih‘r Area = base x height
g
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A=mxr'  A=thx(b+b,) A=bxh
C=2nxr P=s+5,+5+5, P=2x(l+w)

A« m The measure of the inside of a closed figure, b = base
r ' ni : ’ .
expressed in square units (8 sq. in. or 8 in’) R height
. P= The maasure of the distance around the | = langth
Basic outside of a closed figure _
Terms W = width
-0 Ca m The perimeter of o circle I » rodius
= m The ratio of g clrcle’s circumference to § = side

its diameter
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Exercise 13A

1, () 40m’ =40 10000 em
= 400000 EI'I'I:'
(b) 16em’ = 16% 00001 m’
200016’
(© 003n* =003 10000 e’
=0 en'
(d) 28000 cm’ =26 000 0.000]
=4m

1 (1) Breadth of rectangle = %

= [4em
() Perimeter of rectangle =2(18.5 4 14)
=)(32)
=63 ¢m




3. Area of figure = area of square - area of triangle

1 1
=0"- — x3x25
2

=81-375
=7125m’
4. (a) Diameterof circle=2x 10
=20cm
Circumference of circle = 2r(10)
=20n
=628cm(to3sf)
Area of circle = x(10)°
= 100r
=314cm’ (1o 3 .f)

(b) Radius of circle = %

=l8m
Circumference of circle = 2r(1.8)
=316mn
=11.3m(to3sf)
Area of circle = m(1.8)°
=34r
=102 ' (1o 3s.f)

1?6

it

88

n
=28.0mm (to 3 5.f)

Diameter of circe = 2 X %

(¢) Radius of circle =

17

)

(-

mm (1o 3 s.f)

()

=560
J 88
Area of circle = =
7

{
?(TM

R
= 2460 mm’ (to 3 5.f.)

() Radius of circle = %

=140¢cm (to 3s.f)

Diameter of circle = 2 x 1’6:5

=280cmlo3 sf)

Circumference of circle = 2!:[1’6:5

=880cm(to3s.f)

5. Let the diameter of the semicircle be x cm,

% XEXx+x=14

| 21
g
2 7 r+x=14
% x+x=14
—x=14
7 X
x=56
.~ Diameter of semicircle = 56 cm
=0.56m
6. (a) (i) Perimeter of figure = h(zzl] +2(36-21)
=2n(10.5) + 2(15)
=2lx+ 30
=960 cm (to 3s.f)
(ii) Area of figure = area of two semicircles + area of rectangle
=m(10.5° + 15% 21
= 110.25xn + 315
=661 cm’ (1o 3s.f)
() (1) Perimeterof figure = % X 20(5) + 2(5) + 200
=5n+10+ Jﬁ

=399 cm(to 3s.1)
(i) Area of figure = area of semicircle + area of triangle

xutsh-xmxm

K+ 50

T

25

&

=893 cm’ (to 3s.)

(¢) (i) Perimeter of figure = 1 X En[—@-] + EE(E]
2 2 4

.;. X 21(9) + 21(4.5)

on+9x
= 18x
=56.5cm (to 3s.f)

(i) Area of figure
= area of big semicircle + area of two small semicircles

= l X 7(9)" + R(4.5)°

-32—1:|:+2025:

=60.75%
=191 cm’ (to 35.f)
7. (i) Perimeter of figure=2m(2) + 2(9-2x2)+2(3)
=4n+2(5)+6
=4n+ 10+ 6
=4n+ 16
=286m(lo3sf)
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1+ .13B

. (a) Areaof parallelogram = 12x7
=84 em’
42
(b) Base of parallelogram = o
=7 m
{(c) Height of parallelogram = '?—:

=55mm

(a) Area of trapezium = %X('h- Ixé

=_x18x6

em’

126
1
=X (8+10
2::-:(+I]
126
%xls

_ 1

(b) Height of trapezium =

=l4m

(¢) Length of parallel side 2 of trapezium = ll -5

. () Areaof parallelogram = 6 x9
=54 cm’

(i) Perimeter of parallelogram = 2(10 + 6)
=2(16)
=32cm

. Area of parallelogram = PQ x 5T = QR x SU
POx8=10x112
POx8=112
PO=14
Lengthof PO=14m

. () Area of trapezium = % X (35.5+ 20) X 15

== X55.5%x15

=416.25 cm’
(i) Perimeter of trapezium =355+ 18+ 20+ 16
=895¢cm

(i) Area of trapezium = % X(PQ +RS)X PT =150 m*

%x{lz+ﬂs]x10 =150

5%(12+RS) =150
12+ RS =30
RS =18
Lengthof RS =18 m
(ii) Perimeter of trapezium=PO+ QR+ RS+ P§ =547 m
124 0R+ 18+ 13 =547
43+ 0R =547
OrR=117
Lengthof QR=11.7Tm
Area of shaded regions = area of trapezium ABCD - arca of ABCE
1
2
%xuxu-u

% (10 + 14) X lZ-%xHle

=]44-84
=60 cm’
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